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QUESTION NO: 1

Which two statements are true when describing Automated Personalization (Choose two.)

A. Target automatically users all Adobe Experience Cloud shared audience to build the personalization models.
B. A visit is eligible for a new experience upon each page view.

C. The model is always “spending” a small fraction of traffic to continue learning.

D. The underlying models are re-built every hour using the latest visitor behavior data.

ANSWER: AD

QUESTION NO: 2

When running a test the marketing manager sees that the test has reached a confidence level of 87% and has a 4.2% lift
Excited for the success. The manager wants to stop the test accept the results, and move on to a new test.

What advice should be given to the manage! about ending the test at this point?
A. Let the test run because there is sufficient evidence that there is a difference in conversion
B. Let the test run because there is weak evidence that there is a difference rates.

C. Stop the test because there is a strong evidence that there is a difference m conversion

ANSWER: A

QUESTION NO: 3

Why must primary and secondary success metrics be determined pre-test and not chosen or adjusted after activation?
(Choose two.)

A. so that "Conversion Rate of Alternative" can be estimated pre-test
B. because it is not possible to change your primary goal after the test has started
C. so that "days to complete test" can be estimated pre-test

D. to minimize risk of biased metric selection
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ANSWER: AD

QUESTION NO: 4

The product team wants to determine whether a ‘viewed also viewed” or bought also bought” Recommendations logic would
drive product views.

What is the correct way to test both Recommendations Criteria?
A. Create a new Recommendations activity, and in the Targeting page change the Control traffic allocation to 50%.
B. Create a new A/B test activity, and in the Targeting page select the two Criteria.

C. Create a new Recommendations activity, and in the Experiences page pop-up select the two Criteria.

ANSWER: A

QUESTION NO: 5

A client is viewing a report for a Target Recommendation activity. What do the names of the experiences in the report refer
to?

A. Names of the criteria used
B. Names of the collections used

C. Names of activities tested

ANSWER: C

QUESTION NO: 6

A company has been using Adobe Anal/tics for thtee years to monitor website Key Performance Indicators (KPI) and is now
considering using Adobe Target to report on activities.

In which two cases should an Adobe Target Business Practitioner suggest utilizing Adobe
Analytics as the reporting source for Target activities? (Choose two.)

A. If the existing Adobe Analytics implementation already collects all the required data

B. When it is mandatory to have a single source of data

C. If the main requirement is to be able to collect data in real-time

DumpsQueen - Pass Your Next Certification Exam Fast!


https://dumpsqueen.com/

DUMPSQUEEN

D. If an Adobe Target "clicked an element" success metric is required

ANSWER: AD

QUESTION NO: 7

Which two pages of the Visual Experience Composer three-step guided workflow allows an Adobe Target Business
Practitioner to change the audience targeting of an activity?

(Choose two.)
A. Preferences
B. Experiences
C. Targeting

D. Setup

ANSWER: B C

QUESTION NO: 8 - (HOTSPOT)
HOTSPOT
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ANSWER:
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Confidence Level

Sebect

increadng this variable will redune the chance of a falie positae (type T emmor) 8l increase acinaty duration

N ———, W [P T - o [ U T ———— susdie dh sty
prcw o 3 lalee v ga [tygee pra ) B e aciply dharaing |

mecreadsng Eun vanabile wll ¢

The Hugher tha vstlablke. the more activity tomeensons. thersdone redueong the sclly durabion

Statistical Power
Setec] -

Increasng this vanable will reduce thae charce of a taise posites [ype 1 o & increass activity duration

Increasng this varisble will reduce chance of a lalie negative (type 2 eimer) & incraasm pctety durabsn
The ""?"'E' this wariabie, the mone S0y CoMWErsiong, therefore reducing the sttty curation

Baselinge Conversion Rate
Sebect b

ekt

Incredsing this vadable will reduce the chance of a falss posilve (ypss 1 enod & Incresse soinaty dussison)

Increasing this vanable will reciuce chanoe of a 158 negatree fhype 2 srmord & increase achwity duration |

T highas this varishie Hw e activity conversions. Usarafore reducing the sctivty duration

Explanation:

Conflence Leval 3
Select

i_' Imraaemg = cemaiier eitrecmee e orencend fsbepostve fypeterrer) Srmoes ooy dewsnian
L lveasnlihigarialibe vl moucechaies ola talee nagatus (i JantdlS dcrea Sali-inalni.
|

|  Tha hugher B variabie, the mome sctvty comenuons, herefoie ieducng the sclenly durabon

Statistical Power
asect .

increasing this varisble will reduce chance of & false negateve (type 2 erod & incewais activity duraten
The higher this variable. e mods ctivity conwersions. therefors reducing the sctoty durstion

Baseline Conversion Rate
JEEEc L

| Incressing this vaimatde will educe e chance of & Lke podilae (lypse 1 aand B incrests sclaitly duratson

Tha he r iy Xy 4 rig wcime Ehe mot raty . |
an Phohar Yaig varipble g inory sttty convarsiong thaseipo righcing thaactisty duration |

QUESTION NO: 9
What does Adobe Target optimize towards when running an Automated Personalization activity?

A. One single metric
B. The model will determine which goal to optimize

C. Revenue per visitor

ANSWER: B
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QUESTION NO: 10

An organization is tolling out a customer service chat that is available on the site Mondays through Fridays from 8:00 am to
5:00 pm. A lest will be conducted to determine how to optimize the link to the chat.

Which action enables an activity to be recurring every week during chat hours?
A. Set the time in the Duration section of Goals & Settings.
B. Create a rule for Time Frame in Audiences.

C. Set the time in the Page Delivery section in the Configure menu.

ANSWER: A
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